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4 ~ The annual earnings of FIN CORP. ¢ years after 1/1/1995, is R millions of dollars, and
R=26/5+2e+ 10.
Find 1} the rate at which the earnings were growing on /171997, 2} the rate at which the
earnings should be gmwin%; on 1/1/2001. 10%.

I
X +4 . Find 1) the relative extrema; 2) the points of reflection; 3) the intervals on

5 flx)=
which f1s decreasing; 4) draw a sketch of the graph for f{x). 20%
6 + The demand equation for product A is x=20-2/". x 1s the units demanded at unit price

p. Find 1) the decrease in demand when the unit price is increased from $2 to $2.05; 2) the price

elasticity of demand at p= 2.  10%.
7+Find |x'e'ds, 10%.
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